
Solving Trig Equations: 
Review



Solve.  Give answers between 0 and 360 degrees
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1.  2cos 1 0                   2.  3 csc 2 0

3.  3sec 4 0                  4.  2sin 2 1

5.  4sin 3 0                   6.  sin 3cos

8.  cos 2 2cos 1            9.  3tan tan

10.  sec sec 2  
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14.  2sin 3sin 1 0
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Solve.  Give answers between 0 and 360 degrees

1. tan 𝜃 = 1 2. tan 𝜃 = 0

3. 𝑠𝑖𝑛𝜃 =
3

2
4. 𝑐𝑜𝑠𝜃 = 0

5. sin 𝜃 =
2

2
6. cos 𝜃 = −1

7. cos 𝜃 = .365 8. sin 𝜃 = .4

9. cos 𝜃 = −.653 10. sin 𝜃 = −.2



Solve.  Give answers between 0 and 360 degrees

1.  tan 1                   2.  tan 0

3
3.  sin 2                   4.  cos3 0
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5.  sin                    6.  cos 1

3 2 2
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7.  cos           8.  sin

9 2 6 2

9.  cos .25  
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= ( )           10.  sin .4 = −
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Solve.  Give answers between 0 and 360 degrees

1.  tan 1                   2.  tan 0

3
3.  sin 2                   4.  cos3 0

2

2
5.  sin                    6.  cos 1
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